   အမည်   -

   ခုံအမှတ် -

အမှတ်(၂)လျှပ်စစ်စွမ်းအားဝန်းကြီးဌာန

ရုံးလုပ်ငန်းအထောက်အကူပြု ကွန်ပျူတာသင်တန်းအမှတ်(   /၂၀၁၀)
Basic Networking

1.
 (25    )10  =(11001)2

2.
 (0111)2   = ( 7 )10

3. Binary numbers represent  two levels of status in the electronic      circuits.

4. ---8-------- Bits      =  Byte

5. A bit or Bit---- is the smallest unit that represents  data inside a computer.

6. (1284)10 radix is --------10--------- . 

7. (10101)2 radix is ----------2--------.

8. ASCII code တွင် character တစ်ခု -----8------------ bits ရှိပါသည်။

9. Unicode တွင် character တစ်ခု ------------16------ bits ရှိပါသည်။

10. Data representation format တွင် data နှစ်မျိုးမှာ Numberic  data နှင့် ---character ---------- 

ဖြစ်ပါသည်။
11.  ( 41)10  
= 
(101001)2
12.  ( 44)10  
= 
(101100)2  

13.  ( 46)10

= 
(101110)2
14.  ( 55)10  
= 
(110111)2
15.  ( 65)10 
= 
(1000001)2       
16.  (1010)2  
= 
(10)10
17.  (1111)2   
 = 
(15)10
18.  (0110)2  
= 
(6)10
19.  (1000)2  
= 
(8)10

20.  (1100)2  
=  
(12)10

21. Describe the components required for network and Internet communication.
Ans:  If connect with ADSL,
We need ADSL Modem, Router and Switch
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22. Describe the purpose and function of various network devices.

Modem: The word is a contraction of Modulator/DE Modulator Modulation is the conversion of digit bit streams into analog telemetry suitable for transmission. Demodulation is the reverse of that process. The modem is a device that allows a computer to transmit information over a suitable communication link, such as a telephone line. It translates the digital signals that the computer uses to analog signals suitable for transmission over the communication link. A suitable communication programme is needed to operate the modem. 

ROUTER: In networking, an intelligent connecting device that can send packets to the correct LAN segments to take them to their destination.

Switch : A network switch is a small hardware device that joins multiple computers together within one local area network (LAN). Technically, network switches operate at layer two (Data Link Layer) of the OSI model.
23. Describe the definition of   Binary numbers, Bits, Bytes.

Binary numbers

The internal structure of a computer is composed of an enormous number of electronic circuits. Binary numbers represent two levels of status in the electronic circuits, as in:

* Whether the electric current passes through it or not

* Whether the voltage is high or low

Bits

A bit (binary digit) is 1 digit of the binary system represented by “0” or “1”. A bit is the smallest unit that represents data inside the computer. 1 bit can represent only 2 values of data, “0” or “1”, but 2 bits can represent 4 different values:

Bytes 

Compared to a bit, which is the smallest unit that represents data inside the computer, a byte is a unit that represents with 8 bits 1 character or number. Considering that a byte is equal to 8 bits, the following is the information which can be represented with one byte, by the combination of “0” and “1”.

24. 
LAN stands for Local Area Network.

25. WAN stands for Wide Area Network.
26.
 TCP/IP stands for Transmission Control Protocol/Internet Protocol.

27. 
OSI stands for Open System Interconnection.

28.
 DNS stands for Domain Name System.
29.
 ADSL stands for Asymmetric Digital Subscriber Line.
30. 
ping stands for Packet Internet Groper.
31.
 DHCP stands for Dynamic Host Configuration Protocol.

32.
 http stands for Hypertext Transfer Protocol.

33.
 www stands for World Wide Web.

34.
 CSMA/CD stands for Carrier Sense Multiple Access/Collision Detection.
35.
 FDDI stands for Fiber Distributed Data Interface.

36.
 e.mail stands for electronic mail.
37.
 ASCII stands for American Standard Code for Information Interchange.
38. 
IP address of your computer is ------------------------------------.

39. 
Proxy server address of your computer is ------------------------------------.

40.
 Computer name of your computer is -----------------.

41.
 Workgroup of your computer is ---------------------. 

42. Which of the following number is hexa-decimal number?
       (1) 1100  (2) 255  (3) A2
43. What is MAC address?

       The address for device as it is identified at the Media Access Control (MAC) layer in the network architecture. MAC address is usually stored in Rom on the network adapter card and is unique.

44. How Gateway is different from Routers?

A gateway operates at upper levels of the OSI model and translates information between two completely different network architectures or data formats.

45. What is subnet?

A generic term for section of large networks usually separated by abridge or router.

46. What is IP?

IP is Internet Protocol. It is the network protocol which is used to send information from one computer to another over the network over the internet in the form of packets. 

47.  What is a router? What is a gateway?

Routers are machines that direct a packet through the maze of networks that stand between its source and destination. Normally a router is used for internal networks while a gateway acts a door for the packet to reach the 'outside' of the internal network.

48. Telephone systems may be classified as:

· simplex and symmetrical

· simplex and asymmetrical

· duplex and asymmetrical.

· duplex and symmetrical.

49. A router:

     - forwards a packet to all outgoing links.

     - forwards a packet to the next free outgoing link.

     - determines on which outgoing link a packet is to be
        forwarded.

     - forwards a packet to all outgoing links, except the link upon       

       which the packet originated.

50. The Internet is an example of a:

· circuit switched network.

· cell switched network.

· Packet switched network.

51. Asynchronous transmission may be defined as:

· communication where receiver will operate satisfactorily, even if its clock frequency is appreciably different to that of the transmitter.

· communication where the receiver clock must be in exact synchronism with that of the transmitter.

· communication where the receiver clock must be in approximate synchronism with that of the transmitter.

52. Synchronous transmission may be defined as:

· communication where the receiver will operate satisfactorily, even if its clock frequency is appreciably different to that of the transmitter.

· communication where the receiver clock is arranged to be exact synchronism with that of the receiver.

· communication where the receiver clock must be in approximate synchronism with that of the transmitter.

53. Baseband transmission may be defined as the transmission of a signal over a link:

· at a different band of frequencies.

· by means of wires.

· which is relatively short.

· without any change in frequency.

54. A file is downloaded to a home computer using a 56 kbps modem connected to an Internet Service Provider. If the download completes in 2 minutes, estimate the maximum size of data download. 

- 
6.72 Mbit.

- 
26.88 Mbit.

- 
336 kbit.
55.  Describe the definition of 192.168.1.1?

Definition: 192.168.1.1 is an IP address normally used by Linksys broadband routers. Some other brands of network routers also use this same address. While technically a computer, printer or other device can be set up to use this address instead of a router, that's uncommon. Connecting to A Router Using 192.168.1.1
ADSL Modem
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